3

WET-1/PART., [A]
ST 9 9 e oy |

Directigy, .

ILDD
EVELOPMENT g PEDAGOGY
ﬂ&#%sﬁ?ﬁgﬁqmmmw
' /

Answer the following dltestions by selecting (he
RNt s i)

. ——-——-J_"_E{{Eﬁfﬂ'_ﬂf”mm option.
& TR A oaw b

1. What is parallel play ?
() w9z 8§ @a -
(1 Playing in groups
(2) 8r 4 e
o (2) Participation in small groups
3) T =

(3) Role play
4y AT |
(4) TS @ @ Playing separately

2. Why should co-curricular activitics be

organiscd in the school 7

(1) 3 9% & uigE § wes ¥ (1) Tt help institution to get fame
(2) T BE % o9y fgmg § s 8 (2) Tt heip in the overall development
- "~ ofchild
(3) 4 I 3 @ =Efag sema H (3) It help in justification of fee
HEE B collection
(4) 3 =57 frenfiE & R q’gﬁ]‘iﬂf Ef (4) It is important for those students
Jorre § sfy 9@ @ - i who do not take interest in study
Py wgfa w0 3 faragoy gfqars & ATIES 3 3. Propounder of model of memory level
: teaching is : J__Lb:‘;‘ r! -
.r'"'-'-'-..‘ i “Fata
(1) o CECL (1) John F. Herbart _
@ uHo Hlo Aifrad (2) 1L C. Morrison
(3) T Qo Rt (3) Ned A. Flenders
(4) 7 & A T (4) None of these
101

P-T.0.
gy 5
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4. AT gz o fmw B O3 F B
% ERT fafem & 7

(1) S
(2) HATERTRT 0d wEETT B
(3) @9 TAETST FF

(4) =8 a FE T

5. frm F fam $ a2 9 @ fam
nfemies e &

(13 @ﬁﬁﬁﬁomﬁﬁ |
(2y F dio arEEE A
(3) @ TR mEed |
(4) FFE-gRHT N

et B & @9 g 7 ow g |
3 P & wegel qff o E

(1) mrfr A
(2) T HHTATETOT

(3) 3= ‘
@) Tl fwey S

_Level-1/1101

4. Mental growth and development g

|

|
A
controlled by which of the fﬂ”ﬂwmi

factor ? |
(1) Heredity
(2) - Heredity and envi ronmental factor
!
(3) Environmental factor only i

(4) None of these

The Jaw of readiness as one ol the law

L

of learning has been propounded by :
(1) Edward L. Thorndike

(2) John B. Watson

(3) Evan Patrovich Pavloy

(4) Max-Wertheimer {

Which of the following play important
role in the development of moral values
re—————

in the child 7
(1) Prayer assembly

(2) Proper socialisation

(3) Intellect

(4) All options are right

Ll
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R 3= s e s e e e S e ik Bttt s =5 T

[A]
4. WARE gfg ud fwm B 3 A Red
FE =0 afag § o
(1) i
(2) SgEiwEmT od qatarer @
(3) ®Fw TEETT FEE
(4) 399 4 T2 5
5. T % MR & dwd @ w0 As
afaaeg e g o
(1) UzaE T@e dFeEEs A
(2) =4 dle gEaEd &
(3) gar GEiEE wEeE |
(4) HEg-gEHT A
6. =g Eff'i F g o OAlE ?é'lf?il'
5 foeer B Tt g P & 7
(1) arFEn A4
(2) TE AT
(3) df=
Level-1/1101

[4]

Mental orowth and development 18

controlled by which of the following

(actor ?

(1) Heredity

(2) Heredity and environmental lactor
(3) Environmental factor only

(4) None of these

The: law of readiness as one ol the law

ol learniie has been propounded by
1) Ldward L. Thorodike

(2Y Jdohn B Woason

(3 Bvan Patrovieh Pasvlov

< AMax-Werthemwer

Which ol the following play PO

role 1 the development of moral vilues

———

i the child ?

(1) Prayerassembly

(2) Proper socialisation
(3) Intellect

(4) All options are right

Scanned by CamScanner



]

=

7. 59 gfgsia @ W T9E g g

I T & 7
(1) 70-79 (2) 80-89
(3) 90-109 (4) 110-119

4}" Ffafam & 8 F9-81 ST greamEeEn
T Hapor % 7
(h &

(2) T9= 1 G094
(4) 47 g~

i~

& Tt w1 ofista v el & A A

e e favanAm el O A #

o

W o faf

(2) SFEET

(3 0ap 1'1“ % faie

10.

10.

| Al

hi " the
A normal child belongs o which ol
following 1.Q. level ?

(1} 70-79 (2) §0-89

(3) 90-109 (4y 110-119

Which of the following 15 the

characteristic of the stage of later
childhood 7

(1) Self-assertion

(2} Time concept.

(3) Social endeney

() Hero worship

A valid and reliable method 1o draw
conclugion about interest and aptitude

of the learner is :

(1) Objective observation method
(2) Introspection method

(3) Lxperimental method

(4) All options are right

Which ol the following is nor

a
characteristic of fattavert personality 7
(1) Self Centered
(2} Conservative
(3) Sociality
{4) Submissive

BT 0
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[A] 61
1

. Feifefa & Q4 dmew g adt g 1. Which of the following statement IS g
& ! corieet 7
“L?ﬁi w REry @ awm e s B (1) Growth and development are two

different aspects
(2) iz ST T (2) Growth continue throughout life
{33.- i T eI T 9m (3) Growth is onc of the part of
& developmental process

(b T gt B (4) Development. is g contmuous

process

12. Il o AR =1 F U ey i @ Which of (he fhilmving factor g
q FE-T1 I MR B 7 responsible  for individual difterence
among children 2

(1) =mar-faar &5 fr (1) Auitude of parents
i (2) Intelligence-

(3) T (3) Race

(4} Place

P Flat b i . "
13. : 13. Which of (ke Fultowmg statement s
correct ?
= i) - =
el '—‘_":I::. .5-'1’ o T - [ - = B
(1) 979 85 99 a1 meeg Ay 3 (1) Maturity b Mportance of practice
) O T UE SIE fEar 3 My § :
(2) i UF VIR ey (2) Maturity 'S physiolovical process
(3) AT AT (3) Maturity Continues til] dgoah
'"\ 5 ﬁ "-11* i - i T l;‘{ . o & ‘1 P
) UI;”JE‘FIT b T AEmTE aEen (4) Maturity volves onjy quantitative

change

Level-1/1101
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(7] 1 A ]
14. 98 'W B EIEIRE % TYE A 14. The dynamic force that energiﬁ‘-’s
?Eﬂ < ¢ oy @@ e i SR e behaviour and compels the child to act
, T® ' . to learn, is -
(1) e (1) Goal
(2) ¥Es Sop (2) Drive
(3) Hang

(3} Barricr

(4) B9 fogen Td 2 (4) All options are right

15. T=iafes § & #9-9 feer e 15.
ST, MEE @ SRR a6 &
Ted e SRy # qU w8 7

Which of the following teaching
strategy fulfils learning objectives under
cognitive, affective and psychomotor

domain ?

(1) == (1) Lectures

(2) 998 el (2) Group discussion
(3) H*ﬁ:[ﬁ s+ (3) Role plaving

(4) AR TN

(4) Programmed instruction

@ Jo faefetad § § few 9T @ 16. Reinforcement is a part ol which of the
ar & 7 following process ?
) ﬁT&T"T. (1) Teaching

A2) GW (2) Learning

3y Instructions
AB) e (3)

(4) gl H | EIERE P (4) None of the above

Level-1/1101 P.T.0,
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17.

19.

20.

T st ¥ e B R
et @) e @ ¥ 7

(1) e aTaem
(2) UrE ST
(3) B v

(4) T A

Freifefag & @ #9-91 #d 995 B
TaTeTE T F dE 8 ¢

(1) @i (2) <TET I
(3) W& BAI (4) G FEW

Erafaig 0 4 @F-W T Wl T8
l

o

gt

L

(1) Aar @ e R ez IR U]

o B AT A A © W
A &l
@, e A aA T

(&)

(3)
Herdt & W ©

Prefifgg § A FF-0 W S

e 1 qomTd #ed & 7

(1) @mieas HE

(2) ARFias FH
(3) ol FH

(@) wh R @ E

Level-11101

8]

17.

18.

14.

20.

How many SWESS ol cognitive

development has been narrated by Jean

Piaget ?

(1) Eight stages
(2) Five stages
(3) Six stages

(4) Four stagcs

Which of the follawing action verb is
not of alfective domain ?
(1) Accept (2) Obey

(3) Dilierentiate  (+) Influenee

Which of the following statement is #of
1

correct .

(1) Intelligence  and  ereativity are
SVROIYMm

(2) An intellisent person may not be
cretive

(3) A ereative person may have high
degree of intelligence

() Creativity can be nurtured

Which ol the following environmental
factors afTeets the personality ?

(1) Social factors

{2y Cultural factors

(3) Economic factors

(4) All options are right
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21. ;11:[ ;g; T;ﬁﬁ e
(1) Fg o
(2)- 3T TR
(3) T u=Fe
(4) 9 mFT

2o foram sHfaaE # # farawy FF:T 5B
g FH @ Sird-ga T 8
(1) forendi @@ SR TR
(2) fore= vd T A
(3) AT T el
() B TR

og, PTG S g 2T foren
o
(n qyer-faar & & i frem
(2) qra-a51d BT ér iy f4reT

(3) aidl & TF ﬁ e fae
qy - A A
Lev&l—ﬂﬂm

[91]

21.

22,

23.

,.«1‘1'} [

Al

Gagne in his hook "The condipons ol

learning” has deseribed how mand (yvpes

ol learning 7
(1) Five types
(2) Light types
(3) Seven lypes

Ten types

(4)

The subject matier ol cducationl
psychology revolves ot which ot the

following key factor ;

(1) beamer anmed learning CNDOTICNICS S

FAITRle

(2) Teacher and learming
ping Sieens
(-hy Al oplions Jare right

W hich ul the Folloawing is pred o souree

ul‘iuliumnl couention ©
ion given by parents

{1 duea

(2) |dugation given by neighbours

(H ducation by pect groups

(4 Education  through class-room
eaching
P.T.O.
e ——— T P .
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[A] ' R

Q Frifofer & & @0 S
AR 7 FerETr 7

(1) P e A9 ¥ @ A
Qﬁﬁ%mmzﬁ;wwm
(3) TR ¥ g e

04, Which one of the following ;o
ic motivatiop 9

example of intrins '#
(1) Selection in school's footha]] teay,
(2) Solving a problem fOrits own saiq

(3) Getting a dress O birthday

@ aeft R w3 (4) All options are right

25. M9 & @ Fm-d By e W W 25. Which of the following method is n_:
IS % fomg @%I e 7 ; : appropriate for teaching at primary level
(1) TH&n e fafy (1) Problem solving method
(2) Tfcifafer J9FH (2) Activity app{'ﬂﬂCh
(‘3) e fafy (3) Lecture method
(4) " ffy (4) Project method

26. famm geifasT afds 9o 2ar B 26. Educational Psychology emphasizes on':
(1) forers et fran o (1) Teacher centred education
(2) B iad [ o (2) Child centred education
(3) e T e (3) Curriculum centred education
(4) fagmm Breg fwr o (4) School centred education

27. F H AT FOh GO A S 27. Teaching aid is useq i the class for :
g frem B |
() (1) Creating Specific fearning 3

. conditiong

Reducing burden on the teacher i

(3) F41 ¥ FIMET T T B fog
(4) B 4 emaws 89 3 T

Level-1/1101

(3) Maintaining discipline in the class

i el “OMpulsory i the teaching &
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[11]
0. Frifeifaa FE-A1 ITH A :
ik 28. Which of the following aspect comes
e & e oIl © | .
i * under mental development ?
1) s -
(_) (1) Language
2) AT T '
@ (2) Size
(3) srgmm - (3) Affection
(4) FHRI . (4) Honesty
20, T SR T A AT AfEE B 29. The stage when child drives, 1SS
@ w9 omErted o B, waEfdd ® " enjoyment from his parents, is related to
IS - ~his :
(1) sl fep @ (1) Physical development
(2) AT fawE § (2) Mental development
(3) o faed @ (3) Language development
(4) arfes e & (4) Social development
s0. Ty # & 58 @fmE @ SfereRan Al 30. Which of the following is known as
gl FEN 7 cthical moral arm of the personality ?
(1) e (g8) OB
() e () (2) Ego
3) qUE ( _3,:“)' (3) Super—egc?
(4) F© T -2 , “ 1d and super-ego
|
_____._—-—-'-—-_____ A . ——
f\ L
@F
Laual-uﬁm . ' il i

(Al

Scanned by CamScanner



[A] o [12]
AqRT - 11/ PART = I
arr (=< T oih) / LANGUAGES (HINDI & ENGLISH)
. [ =1/ HINDI ]
fdr - ﬁ%w##m#ﬁmmﬁaww; | |
—

31, o TG F Al ¥ - A 5. @
IrREIY -t | m mwt -
(1)-Frder e ¥ ot Fadven (1) Premares T
(2) Pt aftem’ 2 fdwar @) Prgared T Ry
(3) Rl e @ s |

3) Fragey FETH
(4) ufago
. (4) T fade j

32. 9mifee w&f & ffd @ 3 Ry -
ST R § ? 3?*_?*;%@&‘%’@“%%'
(1) 31 or - o agew SRS e

= ﬂ,(' ot
(2) R ~ FURF TLET— () B 2> L2) g~

(3) e - afiETr agey () T (@) g

(4) 9T - HURE o3
| e 37. maﬁﬂ‘w’mﬁwgm%:“

33. oY ofFw F R S wd B wm
TF @ A CERY FEarr B fea Be T
R § =4 SR G T e o B 7 (2) sr
(1) AP wes” fz:.q%qv ﬂ’“”ﬂ (3) I
| @7 m%{ (4) oTeARRyr B P (4) 3T .
4. qER A R 3. WD W 7 P am @ 3 &
(1) & o ¥ war By o ST R 3 e '
T (2) T BT @ # eiaiy e L (1) gem - Wﬁﬁﬁﬂgﬁm
3) W@ " R, =9 qq swm o Q) R -
oRed dmr - " fro o

(4) T F Rereer sqe Her) L
. Level1/1101 |
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T T g T B e g

(1) Iafemry
@) T form
(3) ¥Feqferm
4) oy fg

40. T F wgnT A A B
(1) =99 % ofae &0 5 e 3 foo
(2) T 7 o B A HH B B
(3) &9 Al =\ F AR 3 B
(4) &HA F =T WG s F o

41. 9 o= § oy IwE & wEm 787 g

27
(1) 998 (2) 9dEr
(3) & (4) =

42. 3 3l 7 A 7 e ¥
(1) 9= & T&d
(2) 9= % 9=
(3) 9= % 7= A

(4) T (2)a(3) o=t

[13]

43,

44,

45.

[A]

T afea woa & IgeeT 8 8
(1) wr=firs (2) =
Q) e (4) af=eA

%ﬁgﬁm%’-mﬁ%@iﬁﬁﬁﬁ

(1) s g5, FaEE

(2) eTdaras e, FHEIH
£3) TfcETEE w3, FdE

(4) FfarEs T, FHETS

fre s a1 Hiu-fase o ® 7
(1) 91 + 7Y = o1+
(2) 999 + ST = T

(3) 99 + TR = UEIE
(4) 79 + U = FE7H
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[-Ad [ 14 ]

[ 3i3sit / ENGLISH ]

Direction : Answer the following questions by selecting the Most appropriate 0F
! ok

@E. Which one of the following ward-

groups is used as nouns in framing

sentences 7

(1} Advice, Practice. Admiration
(2) Advise, Practise, Admire
(3) Advisable, Practicable, Admirablc

(4) Advisedly, Practically, Admirably

47. In which one of the following sentences
punctuation mark has been correctly

used at the end of the sentence ?

(1) What a beautiful picture it is !
(2) What a beautiful picture itis 7
(3) What a beautiful picture itis ;

(4) What a beautiful picture it is.

48. Choose the correct form aof the verb in

the following sentence :

[t was a clear night and the stars ... .
(1) “is twinkling
(2) were twinkling

(3) has twinkled

(4) are twinkling

Level-1/1101

49.

50.

51.

Jren.

Choose the correct option  for the

underlined phrase -
Why did you rn_down such a pood
proposal 7

(1) Refuse -

(2) Postpone

(3) Reply

(4) Accept

Fill in the blank space with correct
adverb in the following sentenee

I i s cold todayv: please don't go
out for a walk.

(1) very

{2) some

{3) much

() little

Choose the correct preposition [rom the
piven options in the following sentence
She is sitling next ............ her brother
in the second row.

(1) By

(2) Towards

(3) To

(4) On
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Fill in the blank space with correct
article in the following sentence :

during summer vacations.
(1) a

(2) an

&) zeroarticle

—~3) " the

53. Identify the word with a different sound
represented by the two underlined
alphabets at the final level in one of the

following words :

(1) catch ~
(2) watch <
(3) match

(4) patriarch .q,

Read the jfollowing passage carefully and
answer the guestions (0. No. 5410 57) on the
" basis of the passdge .

' isit her
Passage : An clder sister came (o VI

younger sister in the country. The elder was

marri q tradesman in town, the younger to
e e

a peasant i_[}- the village. As the sisters sat OVver

their tea talking, the elder began to boast of the

advantages of town life; saying how..

comfortably they lived there, how well they

11101

[15]

(Al
dressed, what fine clothes her children WOTE:
what good things they ate and drank. and hoW

she went to the theatre, promenades, ﬁfld

entertainments,

e s and in

The younger sister was piqued, 2
turn disparaged the life of a tradesman, and
stood up for that of a peasant, 'T would not

change my way of life for yours; said s:he. "We

may live roughly, but at least we are EEE_M'

anxiety Yeu live in better style than We do.

but though you often earn more than you need.
: b i il t

you are very likely 1o lose all you ha\rq.;YULI

know the proverb, "Loss and gain are brothers

twain." It often happens that pcopTc \_.vhc- arc

wealthy one day are begging their bread the
next. Our way ?3 safer. Though a peasant’s life
is not a fat one, it js a long one. We shall never

grow rich, but we shall always have enough o,

2

eat.’
The elder sister said sneeringly :

'Enough ? Yes. if you like to share with the

pigs and the calves ! what do you know’ of

elegance of manners ! I-Imw'ever, much your

goodman may slave, you will die as you are

living — on a dung heap — and your children the

—_ — =

same.’

1wéu, what of that ?' replied the

P. T' 0
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[A]

younger, 'Ol course our wWork is rough and
coarse. But. on the other hand it 1s sure. and
we need not bow 1o anyone. But vou, in your

towns, are surrounded by wemptations; today

all may be rght, but wmorrow the Evil one

L]

—

may tempt your hushand with cards, wine. or
women. and all will go w0 ruin. Don't such

things happen ofien enough

4. Which one of the following is net an

advantage of the town life according 1o
the writer ?

(1 Comiortable life

(2} Fine clothes for the children—"

(31 Good things o cat and drink _—

4} Living on a dung heap-

(53]
!..F't

ios o long one" What does fat and

L

underlined  in this  sentence

respectively mean in the light of the
ehtire passage ?
(1} poor: sufficient
A27 rich: safe and sure
(3) enough: anxious

(4) comfortable: rough

Level-1/1101

“Though a peasant's life'is not a fat ong,_

[16]

pot wuc ol willage ki,

56. What is
according to
@J{nugh and coarse li ic

(2) Life surrounded by temptations

o 3 § > Crs
\_@4 Life without elegance ol manners

(411 ife frec [rom anxicty

he passage ?

57. Match the following and choose the
correct option given below
Part-1 Part-2

{a) Eldersister I, lived incountry

(b) Younger sister wealthy

{c) Tradesman's lifi free from anxicty
P
(d) Peasants life” 12 Jived intown
w11’
Options :
(1) a(1): b2y e(3); did)
{2} a(4): b3} e(2): d(1)
(3)_al4): b(1): ¢(2): d(3)

(4) a(l): bd): e(3): d(2)

[l .
é‘é. Which one of these options has the

words arranged in proper order to form:

i correct sentence 2

(1¥ Already/| have/paid/the bill,
(2 1 i':in'cfalr::ad}'fpaidf’thc bill.

(3) The bill/] have/paid/already.

(4) I hi“’cfpaid.f'alrcad}-ﬁhc bill.
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59.

Identify the adjective in the following

sentence from the options given below :

. She is watching an interestiny

60.

programme on wildili,fe on National

Geographic Channel.
(1) Watching

(2) Interesting

(3) Programme

(4) Wildlife

.Identify the word with a different sound

‘represented by the underlined letter at

the initial level in on¢ of the following

words :

" (1) under

(2) universe
(3) union

(4) unity

[17]
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R = Il / PART — Il
"M 312797 / GENERAL STUDIES

[ AT g, @i SIRRmET qor Qe S O S
APTITUDE, REASONING ABILITY AND GK & AW

R : =g gt @ oot 37 & e aad afte ey §iT

Direction : Answer the following questions by selecting the most appropri@t == 8

/ QUANTITATIVE
ARENESS ] -

jate opt jon.

61. ¥ afor Ren & 3 o = £1 A d
il @ik qewt 5 o =wAT €1 7D AG
§ adll ofX gEar 7 o =wr §1 o
5 ¥ form R 7 99 @ § 7

(1) s= (2) af&or
g0 (3) gd 4y ofyEm
g 0.02 ++/0.0049 FTET & : _
E El’r (1) 0.03 _ 'ﬂ‘Ej"‘c,b ’
ﬂ%;’ : 2y 0.3 D'_u"‘-.
¢ (3) +0.27 w
@) J0.72
sa,ﬁﬂiﬁﬁ,A,BﬁaﬁH%WE_ﬁ
" @ &1 C §ad 7§ 3 D, A&
C am g TR S AT g
3 A :
o) mA - @E | b
D \ ¢
E/ 3) C - 4) D
ca. F-ar at afy ad (o ad) B 7
(1) 1704 (2) 2002
(3) 1982 (4) 1994
Level-1/1101

%

(1) North - (2) South -
(3) East (4) West

(@. D.ﬂz+m is equal to : .

| ey,

(1) 0.03 (vol *f:
2) 03 !
2) L "
(3) +/0.27
(4) +0.72

61. .1 walk 3 m in south direction. Then |

turn in right and walk 5 m. Again | tuy
in right and walk 7 m. At last in whigj

direction, I am walking ?

Out of five friends. A is shorter than
but taller than E. C is tallest and D i
little shorter than A. Which one is th
shortest 7

(1) A @) E

(@) C 4) P
64. Which year is leap year ?

(1) 1704 @) 002
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65- ?,Q@ﬁwmﬁmﬁuﬁ

L Fem, . ge 1k B g
V. Ay, v, R

;&
(1) LI IL 1V, V a2t
(2) V. L1 v, 1
(3) L v, v, I
(4) ILIV, 1LLV
uF g9 § 4 gw@ 30 MEe gu ¥l o

(3) afEor-ofyes
) ERECUC]

gefard

67. a2 ¢ 2. “FF"ThE‘ée are bols"
F@@ B, th % 4) "Bpys-are naughtyy
qafdi &% 2, A (1. &3) "Naughty
boys play” vaialEg Feal 2 .E‘%‘T’Q'F“T Bz
g "Naughty" yefafe &I b of

(2) 3

(4) 3

(1) 1

(19]

65.

66.

67.

68.

(Al

Arrange the f'nllewing words D a

logical sequence :
yMarking:

[. Cutting, 1I. Wearing, ML
IV. Measuring. V. Stitching
(1) LULILTV.V

(2) IV, ULL V.1

(3) ML T VIV T

@ v, ILLY

30, I hand ol

A clock shows time 4 ¢ _
hand ol

minute is in east dircetion then
hours is in which direction ?

(1) North

(2). South-Last

(3) South-Wesl

() North-Last

If (1. 2. 3) represents "These are bovs'.

(1. 3. 4) vepresenis "Boys are naughty"
and (1. 4. 3) represents "Naughty boys
play" Then which number represents
"Naughty" ?

(1) ! {2) 3

(3) 4 (4) 5

A said to B : "Your father is only son of
my father.”

then what is the relation of A to B ?
(1) grand father

(2) grand son

(3) grand daughter

(4) father

P.T. 0,
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[A]

69.

70.

71,

Level-1/1101

[20]

A% VICTORY %1 52 9= YLFWRUB
dT WAR # T 9= ZDU 3 4
SUCCESS # %z 9= 2 :

u}‘}'ifgn-‘njxw

(2) VXFFHVV-

(3) VYEEHVV

(4) VYCEHWW
3

N g
R D. L g9 A& 2 SN E M g9 S
8 @ A was a2 8, 7
i
.9

—

(1) I (2) 1

(3) K

(1) 100% f‘p\
Q) 75% f ] ,G

(3) 50%

4) 25% «

69.

70.

71.

If code word of  VICTORY s

YI.EFWRUB. and code word of WAR is
7DU then code word of SUCCESS is :

(1) VXFFHWW
(2) VXFFHVV
(3) VYEEHVV
(4) VYEEHWW

It I becomes b and E becomes M.

What would A become ?
(1) I 12) 7
(3) K (+4) H

Find the missing term of the series

L3 5 ¥ . 11
'-f 4 g 6 {1
l.1I L}
(1y — e L
24 (=) 75,
g
) -
(3) 2 (4) '3_6

I radius of
then  how
decreased ?

& cirele iy 50% decreased,

Much is area of circle

(1) 100%
(2) 75%
(3) 50%

4) 25%
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¥ f
b i &

" AT

73. 1 fordy 5 60 @
N s 7 B WL L R e

Th GO F gy A & W & ogdr

& T gy o 7 BT T A 7
M 1 fee
(2) 2 P
3) 1 uey
(4) 2 g

0.96

E—

.48

=y

74. TET B

(1) 0.2
(2) 0.02
(3) 0.012
4 2

ar X2=8 Axmamd:

_28 X
(1) 14
(3) 28

75.

2) 21
@) 42

1
p—=

1

1+——

+_..
]2

iﬂ'ﬁ'{%

76.

M
o

(3)

Wit il wilw el

(4

101

[21]

(Al

73. A train of length 1 km is running Wiﬂ:
speed of 60 km/hr. Train enters in a mnnf:‘:
of length 1 km. How much timeé will train
take to completely out from tunnel 7

(1) 1 minute
(2) 2 minutes
(3) 1 hour
(4) 2 hours

(.96 '
74. —— isequal to:
28

.
b
"

) 02
(2) 0.02
(3) 0.012

(4) 2

It‘—£=-§~thcnvalur:ofxis: €

28 x a
(1) 14 (2) 21
(3) 28 (4) 42

75.

is equal to :

1+_T A
4=
2

76. 1+

(1)

2

3)

Q)]

wlw e wlw el
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[A] [22]

77. B ﬁ q -1 B T s gd & e 77. Which of the following rational number
' is largest 7
185 =3
M 3 PIER £ 1 . 2
= ) = I i — N =
L o< 3 el
-~ 3 (L
Y a3 . _ "
as F 5 - 4 5
(3) = 4) = 5% - W0 3 =
78. AN F RN T T B 78. Find the next term of series :
$
0: 58 15242 35 | 0. 3.8, 15,24, 2
s e i
(1) 33 (2) 34 (1) 33 (2) 34
(3) 35 (4) 36 (3) 33 (4) 36
79. =1 & 4 -1 a19a gem ® 7 '79. Which of the following -is a prime
number ?
(1) TR 2) 14% (1) 117 (2) 147
(3) 149 (4) 459 (3) 149 (4) 159
80. =1 § & B-Tl TF 59 80. Which of the following is correct ?
3 e 40 I 3 > 3 i
S = SHls it
3. 2 3 5 3523
2) —>—=>— (2) =3o-=xZ
T 4 35
2.5 3
Z. 9. 2 ) Ssis2
¥ 95"7 375774
Fe ok o
3. 2.3 [y Zetasd
W o o 5 3 4

. Level-1/1101
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mber

rime

8.

85,

R s e
oo g g A E 7

(1) T80
(2) g

(3) T

(4) d=n

38 g Fr g, s a1 & fawifeal
3 R oleiftes - 2016 § i forn 2
(1) " FAR AT s e

(2) wifemr A T e Grme

(3) @l i ot o g

(4) Feyst gpmE SR HeE g

(1) HiE (2) =
(3) Ferere (4) g
Wﬁmﬁaﬁumﬁaﬁ?
(1) FpeA B |
(2) AERT e &

- (3) g R &

(4) TR fs A
g-{ramwﬁrfqmw%:
(1) e e

) R B d

(3) Prami R §

(4) Forear bt &

Leve}-1/1101

[23]

81.

[A]

Which of the following cities has been

selected for smart city project 7

© (1) Gurugram

82.

83.

84.

85.

(2) Panipat
(3) Karnal
(4) Panchkula

Choose the pair of which both the
players participated in Rio Olympics -
2016 -

(1) Sandeep Kumar & Inderject Singh
(2) Monika Malik & Geeta Phogat

(3) Sakshi Malik & Sushil Kumar

(4) Vinesh Phogat & Sanjiv Rajput

The highest mountain peak of Haryana is :

(1) Karoh (2) Mo

(3) Bhilasa (4) Khudana

kalesar National Park is situated in :
(1) Kurukshetra district

(2) Ambala district

(3) Panchkula district

(4) Yamunanagar district

Archacological site Mitathal is in -
(1) Rohtak district

(2) Hissar district

(3) Bhiwani district

(4) Sirsa district

P T.0;
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s I T e e ety s e = a0 AR
T LR L 2 ! L

8.

88.

89.

90,

o Levelqyyqg,

1857 3 wify

(2) 1@ g W
(3) i =y
(4) T 8 I

TF"G‘“H i awEd fGum AW F oy

darT aEy
(2) = s

(4) 7o Ho AR

2011 & ST & TGN EieErm J
Fr“ﬁ'jq]ﬁ (uraaa 1000 541 w7 =fEamed

e &
(1) 861
(3) 879

{2) 961
(4) 858

.—wm AR BT BfEn-2016" #
ERiER e i) () 6

:h%"ﬂ%ﬁf‘r
(2) BEw B
(3) Fmre ¥
(4) M

au

¥ B F A A 3
(h_Fxam i

. g

Q) 3
(3) g 4
(4)

e

[24]

86.

87.

88.

89.

90.

Who among the following is y rCI'Iled
to the revolution of 18572

(1) Sadruddin

(2) Rao Tula Ram
(3) Gopal Dev

(4) Sir Chhotu Ram

The speaker of 13th Legislative
Assembly of Haryana is :

(1) Santosh Yadav

(2) Abhay Singh

(3) Kanwar Pal

(4) R. K. Nandal

As per the census 2011, the sex ratio
(female per thousand male) in Haryana

15

(1) 861 2) 9]

(3) 879 (4) 858

The investors  symmit "Happening

Haryana - 2016" wag organised in :
(1) Panchkula

(2) Hissar

(3) Surajkund

(4) Gurugram

Phalgu fair is organised in :
(1) Kurukshetrg

(2) Kaithal

(3) Jind

(4) Yamunanagar
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125] [A]
qmr - IV / PART = |y
7ot / MATHEMATICS
Ay : TR gest ¢ 307 47 % [y gag o [ gh
Direction : Answer the following questiony by selecting the most appropriate option. j e
____..---_——-—-_._'._-—-—'—'_'_"'_"‘—'—-———'— -
S T L — ¥ F9-m 91. In a series 21, 18. 15, ooovvves . which
81 &7 : term is —-81 7
(1) 35 (2) 38 (1) 35 (2) 38
(3) 40 4) 41 (3) 40 (4) 41
g2. IHd T ufiwm s R, [ELEE] EF&'T% 92. Find the perimeter of the rectangle
40 T Tr et 41 & B whose length is 40 em and a diagonal 15
41em:
(1) 90 &4 (1) 90 cm
(2) 96 #H (2) 96 em
(3) 98 Al (3) 98 em
4) 108 A& (4) 108 cm

e ——

1% 4 % g FE/SPACE FOR ROUGH WORK
# tﬂ;’ﬂ "'fn”}
L] e
"‘|¢,,+-j;, 1 -

Level-1/1101 | ' PT0,
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[A]

15 e a e agym 3 gee
SRHT F AT S e

(1) 106° (2) 156°
(3) 206° (4) 2356°

04. 2% :_-'i:_-"-:T {;:-',_:{H :-':_, 14I-:>: E%:J, 352 ﬁTo a'i"i
% o, B A e e ?
(13 200 (2) 205
{3) M5 (4) 255

85. 19 == F fm\d W 25 TR B um
T EEE WY A W AT T OFH
RTS8 RN A o B9 v om
I'],. :—}H F“.'a-d
(2) 20.% Bn
(3) 20.6 =
(4) 2} T'v-r,_u

--'-I—-_-_-___-—-_\_-_

[26]

93. [Find the measure of cach interior angle
of a regular polygon of 15 sides -
(1) 106° (2)" 156°
(3) 206° (4) 256°
94. How many times the wheel of radius

28 ¢cm must rotate to g0 352 m ?

(1) 200 (2)" 205

(3) 245 (4) 255
95. The average weight of 19 students was
25 kg, By the admission of new student
the average weight is reduced 10 24.8 ke.

The weight of the new student is :

(1) 24.8 kg
(2) 20.8 kg
(3) 20.6 kg

(4) 21 kg
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us

97.

L

Al
[27] |
. s the
g6. ol IFE de, g o 3 !I?PT RIS 95 A two digit number is four time ol
0
=l sum and three times the
T g I Fagm%1 d e prodict
e Py S B digits. Find the number :
) 1z st (1) 12
(2) 22 .2y 22
(3) 14 (3) 14
(4) 24
(+) 23 ‘.,./..t;&
= o A, ]'f"g-
&t e 3 ;5 % FIA § % ofz ue a7. Two numbers are in the ratio > - 5 _;
e § O® 9 gOET M ar A be subtracted from each. then they are
3 ' i i . 73 The second number
. S G #@ in the ratio 12 : 23.
SO 12 23 8 S B
FHfaT - s :
(1) 52 (1) 52
) 2=
"r:l :,'{ {2} 51*
(3) 54 (3) 54
e (4) 55
2 332
W 0 B
% & & [ FTB/SPACE FOR ROUGH WORK T

P, : 0.
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[A]

[ 28 ]

9. & ”33'“” T @t 5% 5,6, 8 9 98. The least perfect square which is
favmon & | divisible by 3,4, 5. 6. 8 is :
(1) 9-9{0!3 2) 1600 (1) 4900 (2) 1600
(3) ,g;)gﬁ #) 3600_~ 3) 2500 (4) 3600

99. a1 AT F P F T 2 99. The radii of the two cylinders are in the
T I et v HAR S ;3 %1 b ratio 2 : 3 and theirtheights are in the
I T ST S ® ratio 5 : 3. The ratio of their volume is :
(1) 27:20 (1) 27 ;20
(2) 20:27 (2). 20, 27
(3) 4:9 By 4:9
(4) 9:4 (4) 9:4

100. i B A 25 =, 36 ReoR g 100. IF'25 men can do a work in 36 days. in
T AdE, O 15 afe s et B z4l how many days will 15 men doit?
& oot R 2
(1) 40 (2) 50 (1) 40 (2) 50
(3) 52 (4) 60 (3) 52 (4) 60

P T #d % fw FE/SPACE FOR ROUGH WORK
'} 4 r}‘ +0
i *’: 5 / w - "
v ¢
1o 1'} jﬁ;"f"
/0

- Level-11101
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129]
is _
@ M= @ g ama A
_ ot
prorf [
\© \j
f}#_f’) ’&g
) 742 5 |
the (1) 742/16 Y / |
Dl '
the \
277729116 Fy Y
1S (}) -&::’, K‘%’/)
(3) 16/729 i \
X ) 4
(4) 16/829 @) 7
A
102. 466565 @ 0 HHAT 1 Y L {-’
'B;EF (‘}"} i/:ﬁ,
(1) 26 i f.? ;
L, In A 49
@ 36 -
(3) 34

101,

102.

Ftnd lh[‘: Valuc Df"_

57305 / ©) l

(1) 742116
(2) 729116
(3) 16/729

(4) 16/829

Find the cube root of 46656 :

(1) 26

. (2) 36

(3) 34

(4) 46

Level-1/1101

"'_f"j'!l"" ;

FE/SPACE FOR ROUGH WORK

P.T. 0.
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[A]

103. TF 9 F AT 64 T «

(b O
b

L

104,

.~ g|,'3
54 94t

x,éﬂ{@fifr%h% SO A feR B

79, RBu o T o gy ¥ 7

(1) 380

(2) 480

(3) 520

(4) 525

B T S @ Y H ST 50 7 B

AT T4 AG I MG B SN 3 ;4

A | BRI e g S i
s |

AL 2099 LY

(2) 28 @4

_8) 3078 M2

(4) 33 3y

[30]

% F4 B U TEISPACE FOR ROUGH WORK

103.

104.

A cuboid is of measure 64 cm y 54 om
% 30 cm. How many small cybes with
sides 6 cm can be placed in the given

cuboid ?

(1) 380

@)
3)
(4)

The ages of Hari and Shyam are in the
ratio 5 : 7. After four years the ratio of
their ages will be 3 : 4. Find the present

age of Hari :

(1) 20 Years

(2) 28 Years
30 Years

(3)

(4) 33 Years

e B e N R TN

Fpais
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106.

[31]
105. 39w @y dmgw O FoAQ fowen A 105,
ST o 11 A ¥ o
& Sﬁﬂf'!_;i,,.. & ug ot
32 9 &
. <
(1) 42 &fr =
() 30 | . 0l
q (—:,.--""
(3) 8430 ¥ wE |
(4) 5430 T
g d W=, 6 8 wuE gw 25 W 1086.
A e SR & (e B 89 -
25 FF x 115 ¥ x 6 @ AT A 16‘6‘”
o
(4) 7200

| .
1 @ @ e TE/SPACE FOR ROUGH WORK

(Al

;o WO
Find the arca of triangle whose

R rimeter
sidesarec 8 cmand 11 cm and pe

1532 cm:
(1) 42 em’
30 em’

H\l"ﬁ em’

(4) 5430 em’

(2)
(3)
mcasuring

How many “bricks cach

2% em #11.5 cm x 6 em will be needed

lo eonstruct a wall 8 m long, 6 m high

and 23 cm thick ?
(1) 3200
(2) 4800
(3) 6400

(4) 7200
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[A]

107.

[32]

aﬁEaﬁ%ﬁfm,S%ﬁﬁmﬁEﬁfﬁﬁ

THgRE AN 1261 Bo %Ffﬁﬂ.ﬂﬂ?{ S|
HIfT :

(1) 8300 %o

g N
(2}, 8000 Ho (\""’é{v t_},x%tﬁ‘
q
(3) 7550 %o }%

(4) 7500 %o

(4) xF+5x42

107.

108.

Find the ' priﬂﬂif}ﬂl amount, 1 the
compound interest at the rate of 5% per

annum, for 3 years is Rs. 1261 :
(1) Rs. 8500

(2) Rs. 8000 ‘

(3) Rs. 7350

{4) Rs. 7500

Find the quadratic expression, whose

. sum of roots and product of roots arc —3

and 2 respectively
P -

(1) x~=3x-=2
2 -

(Z) x»+3v+2

a4 2 s

{3) x~=5x+2

(<) X2+ 5x 4+ 2

W% #@ % R FE/SPACE FOR ROUGH WORK
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[33] (Al

15]9. ﬁ%ﬁﬁﬁiﬁﬂﬂ 15,500 S0 gor 3TH

T g 450 Fo ¥ Ak gq aw @
]5?&%@3{“%%‘{%?6'@%

109. The cost of an article is Rs- 15,500 and
the maintenance cost is Rs. 430: [fit1s

sold for a profit of 15%, find the seLHiﬂg

Ep Hed & iy ] " (\I_'f price of the article :
(1) 18342.50 %0 1 o Y (1) Rs.18342.50
(2) 18142.50 %o ’l{ R D (2) Rs. 18142.50
\

(3) 17395.75%0 & s

7Z3Y

(4) 17345.75%5¢ |

3y Rs. 1739575

(4) Rs. 1734375

110. ﬁ?@f 9] # 110 Bo § JaA W A 110. By selling an article for Rs. 110, a man
& 12% F eI Zrar &1 8% 1 T loses 12%. For how much should he sell
%ﬁ%@aﬁﬁﬁ%m%ﬁ%ﬁi it to gain 8% ?
=ieq ¢
(1) 145 Fo' ~ (1) Rs. 145
2) 120 o (2) Rs. 120
@) 1 - 7 y MW <
(3) 135 %o, | (3) Rs. 135

: 4) Rs. 130.
(4) 130 %o (
ey ——_t = b T WORK s
R % % 3 ¢ SFE/SPACE FOR ROUGH
1\
g
\teX.
L v] 0
l
)
0
)

Scanned by CamScanner



[A]

;b G

112.

2,200 Fo BT F WE o G R
T SR B T 12% Hoge 3 B
e o1 26% F 9 8 ?

3.050 %o
3.075 %0
(3) 3.1530 %0

(4) 3.1753 %o

o

al x % q9
I[I;} 716
(2) 9/16
(3) 7/52

(4) 9/48

[34]

111,

1a.

What price should Suneeta marked on g
Sarec which costs Rs. 2.200 so g5 tg
oain 26% afier allowing a discount of

12% ?

(1) Rs.3.050
(2) Rs. 3,075
(3) Rs.3.150

(4) Rg3.175

(P-4 =5

then valuc ol x 15 -
(1) 716

(2) 9/16

(4) 9/48

% @ B [ SFE/SPACE FOR ROUGH WORK .
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113. ABCD w =gy & FRH £BAD = 60°
§91 ZCBD = 70° 81 £ZBDC 3 §19

114.

(2) 70°

(1) 120°

(3) 60° (4) 50°

af% Rgatt (a, 0) T (—a, 0) A [
{x.y]%@%ﬂﬂﬂ@‘TEbE%,ﬁf:

(1) x2+a*=b+y?
{2) Iz+ﬂ'2=2b2—y2
@) x*-a*=p4y’

@) x*+a’=b*=y?

[35]

113.

114.

[A]
ABCD is a parallelogram, in Wh_“"h
ZBAD = 60° and ~CBD = 70° Find

the measure of ZBDC : '
C

D
70°
60°
A B
(1) 120° (2) 70°
(3) 60° (4) 50°

If the sum of s;:]uares of distances of the

point (x, y) from the points (@, 0) and

. (—a, 0) is 2&1, then :

(1) x2+a2=b2+y2
(2) x*+a®=2b%-y?
(3) x* ~g? =b* +y°

2 2

(4) x"+a =b? - )2

PR

« = & R TWSPACE FOR ROUGH WORK

P.T -
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[36]

. A A H I, B A o § 259 e

115. 1f A's income is 25% more thap p's ang
& T B A AW, C @ om0 B's income is 20% more than (s, by
S Lk S S MW CH o what percent is A's income more than
e sfrem o & 2 C's 2

{n 153‘,‘0. q—-q %ﬁ} ("E-' {]:} ]5“,’:}

(2) 25% (2) 25%

(3) 33% (3) 33%

(4) 50% r (4) 50%

116. @Fﬂﬂ%ﬁlmaﬁmm%m

116. “A coin is 'tnssed 130 times and head is
SO B O7S 9w g 2 B o obtained 75 times. If a coin is tossed at
TS Y U s @ B2 i random. what is (e probability of
g, o sw T UT U B TITFAT 3 getting a tail ?
fﬁ:ﬂw -
(1) 75130 (1) 75/130
) 130175 (2) 130/75
(3) 55/130 (3) 55/130
(4) 130/55

e G

(4) 130/55
6 M 3 e STR/SPACE FOR ROUGH WO

_--""'--_.__

RK

e
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A

117, ﬁﬂﬁﬂ'@ﬁﬁ% i A5, 7), B(—4, ~5)
- C(-1, —6) Tor D, 5) &, & Tt

f

18.

BB T F
(1) 72 = A
(2) 75 @t A=
(3) 80 @t w=H
(4) 82 T AE=ES

-

2 ™ k= # aﬁx—By,ﬁlxy‘ﬁmz
H A 5 B

7= 60°
z=170°
40°
2=40°

() x=1=
(2) x=45° yfl‘IS“

y=40°

(@) x=45° y=15° z=

(4) x=45° y=25°

[371]

117.

118.

(Al

If A5, 7), B4, -5) C-1. 6 -..aﬂ;i
D(4, 5) be the vertices of quadrilatera ,

.. find the area of quadrilateral :

(1) 72 square units
(2) 75 square units
(3) 80 square units

(4) 82 square units

In the given figure, if x = 3¥; find the

value of x, yand z :

(1) x=15° y=40° z=60°
() x=45 Pp=15* r=70°
(3) x=45° y=15° z=40°
(4) x=45° y=25° z=40°

— @ @ fie TE/SPACE FOR ROUGH WORK
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(2) 6
(3) 9
(4 11

120. 575 s o
V8143216 + V32
¢1) 10

(25 1]

[38]

7 itive value of x i -
119. The positive valt " the equag
24 24

_ =115
I§—x 18+x

(1)::3
(2) 6
(3) 9
(4) 11
120. Find the value of :
V81 + 3216 +3 32
(1) 10
2y
(3) 12

) 32

% F4 B R “Te/SPACE FOR ROUGH WORK

Level-1/1101

Scanned by CamScanner



YT -V / PART =V
qafdoT e ENVIRONMENTAL STUDIES

ﬁﬁ-‘ﬁ%w#éﬁaﬁ?é‘#a}ﬁ? TR o e giva

Direction * Answey the following questions hy selecting the most appropria
— e

e option,

121. B T8 gug el d6EE 98 ¥ 2

(1) v
(2) 9t F ofrmd @9HE FEa 2

(3) == S o F R

(4) 9 Hee § T FH Ry &
AFa B

122. Frr ¥ @ Fe-@ T AW @E-AeE
Fasfr-aror § w8 2 7

(4) BrEEN

123.ﬁwﬁﬁﬁﬁﬁ%ﬁmﬁﬁa-ﬁﬁw

aAferad B0 7

(3) I9 FHeddm gut &
(4) Hia

Level-1/1101

121.  Green house effect is nor related with
(1) Eutrophication

> -arth
~t2) Average temperature of eart

increases.
(3) Induce skin cancer.

- Laai from
/@4} Prevent the escape of heat fron

earth surface.

122. Which of the following stale is not

covered in Ganga Action Plan Phase-11 7
(1) Jharkhand

(2) Uttarakhand

(3) Madhya Pradesh

(4) Haryana _—-

123. Which of the following regions has

maximum bio-diversity 7
(1) Temperate rainforest
(2) Taiga

(3) Tropical rain forest—
(4) Mangroves

P.T.0.
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[A]

124.

125.

126.

127.

fasg 99 19 < g o ©
(1) TR & gem game 3
(2) FFH B 9U9 gE |
(3) Ra=t & sifm o &
(4) I & AfEm gae §

= 81 9eet 1 ofd g auee A
FoN W R o et & oRehi
frar ST B 7

(1) 45%

(2 10%

(3) 1%

(4) 99%

TS B 8

(1) T aRffas &3 3=
(2) ”J-?r?ﬁ‘ qiRfefes §3 & oy
(3) FEAEE

(4) Y

AT & 7 @9 SO, EE &
HaH gaF B 7

(1) S&aM

(2) TESA

(3) sAEge

(4) MSrwEe

[40]

124.
(1) First week of September

125.

126.

127.

i e L

%

World Wildlife week is celebrated me

(2) First week of October
(3) Last week of September

(4) Last week of October

What amount Gf HV&i]&bIE'Sﬂiar enE_II
is converted to food energy by leaves;

terrestrial green plants 7
(1) 45%
(2) 10%
3) 1%
(4) 99%

The

because it is entirely :

phosphorus cycle is unusus

(1) Within aquatic ecosystem

(2) Within terrestrial ecosystem

(3) Sedimentary

(4) Gaseous

Which of the following is the bes
indicator of SO, pojjytion ?

(1) Algae

(2) Lichen

(3) Bryophyte

T

(4) Pteridophyte
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128.

129.

130.

131.

CFC yg@ &y § S0l €
(1) S e & R

) = 7 waE & e
(3) a1 gui & foC

(4) Wit 3 R

] wETT & ded S H T

(1) g

(2) &

(3) <=t gar

(4) Frafess e @ (SPMy

Rratatge B A A TgE TEE

7 &7

(1) @

aﬁmaﬁﬁ?ﬂﬁ%aﬂ%ﬁﬁﬂﬁm
Bl e sEfg @

(1) sEe #§ -

- (2) ShagT A
(3) feireme &

" (4) dieEre A

141]-

128.

129.

130.

131.

CFC is mainly responsible for :

(1) Dznng depletion

(2) Green house cflect

‘(3} Acid rain

(4) Smog

Find odd one out with reference o air
pollution :

(1) Euwtrophication

{i) Smog

(3) “Actd raim

(4) Suspended Particulate Matter (SPM)
Which of the following is #nef a natural
ceosyvstem

(1) Forest

(2) Pond

(3) Garden

(4) Lake

Village Khejarli, famous for sacrifice o
Amrita Devi Bishnoi is situated iy -

(1) Jalore

(2) Jodhpur

@3) Chittorgarh

{4) Bansward
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[42]
132, ﬁqﬁf@ﬁ AW B o EXIEEn 132. Which of the following is an obnoxiou
87 weed ?
(1) | (1) Soyabean
(2) aera (2) Bajra
(3) s (3) Cow pea
&) o

(4) Parthenium

133. ggiem Redfistr & Raodm aedow =@ 133.

Part of N; cycle that 15 opposed o N

H AN B fixation is ;

(1) g (1) Denitrification
(2) STHFEBTOT (2) Ammonification
(3) T (3) Nitrification
(4) FTETERTT

(4) Carbonisation

e e

limestone, petroleum.  animal
o
4G 2 shells are all related 1o

134, Fide, SRR, SR, sigead _wf 134, Coal,

(1) T 9% @ (1) Oxygen cycle
(2) SR =% O
(3) AEE 95 d

(4) FEF =5 A

(2) Phosphorus cyele
(3) Nitrogen cyele
(4) Carbon cycle
135. &M &
(1) S e gel
(2) B qeus
(3) Few way sl

(4) By wan e
. Level-1/1101

135. Smog is :
(1) Ozone and Shoke
(2) Vehicular Pollutant

(3) Fog and smoke

(4) Fog and ozone
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136. 99@ HANE o @@ T WET &5 fyg
FAT &

(1) = = ol
(2) oW

(3) a9 .-
(4) T= F1 pH

137. #9 8 § dmw TeiE ugs T8
. .

g
(1) FHoEE gard

Q) FEF T SRS -
(3) TEE SRS
(4) FEA SEAFES

138. Forg =49 F Eﬁ :

(1) wz8A 9 o qar e § g
1

Q) g A A ghREd B

f@‘)'@,ﬁﬁﬁﬂ?a@mwﬁ‘qﬁﬁ
g AT T E

(4) T H TR oy ay @l o S0

W W @ el @xa &
SCIREL L Y

Cilisvald Mand

[43]

(Al

136. Principal resource that determine the
life on land is

(1) Mature of soil
(2) Water

(3) Temperature
(4) pH of soil |

137. Which of the following is wmof @

vehicular pollutant ?
(1) F;articulatc matter
(2) Carbon monoxide
(3) Sulphur dioxide

(4) Carbon dioxide

138. Sclect an incorrect statement

(1) Lichens and Mosses help in the

[ormation of soil.

(2) Humus is a major factor in deciding

the soil structure.

(3) Sun, water and wind has no role i
formation ol soil.

(@), The mineral clements - hgy are

Tound in a soil depends on it

parent rock, from which it %

formed.

P.Tn
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140.

141

142,

(1) STTHEE_-
)
(3)

(@) T FAHEET

qqa.-_[ ﬁ’?i Hiie :‘E E;iﬂia ,7_1,.“5 aﬂmﬁﬁq

‘T{ﬂ%

(1) argaosa—"

(2) HEHFTST

(3) A HUEH

(4) HHa9 {UsT

;‘Hﬁ 3 dea @ @ TP T
§ 1

(1) g

{E)E{fﬁiﬁﬁf
(3) g EIG'U'L/l

@) e

[ 441

139.

140.

141.

142.

atement
ol stalc
Select an jne? -
; ﬂponunls of ecos?
(1) Various
— dent
e interdepet
- 1ber
(2) Loss ol enerZy Jlimits the nun
3 e g R n
wrophic eV els in an ccosysic
e o] [ i asone
(3) CFC play? major role 1
depletion-
{4-: Waste punhitbd ]':} hli!"ﬂdl"i
qetivities is always hmciu*mdahh
Which one ol the following  has the
Jargest aumber inal errestrial ccosysicm 7
(13 Decomposers
(2) Producers
(3) Primary consumers
(4) Secondary consumers
The main i — .
ain atmospheric layer near the

eurface of carth is :
(1 Troposphere
(2) Mesasphere

(3) lonosphere

(4) S tratosphere

Which of the fi
ollowing i
s ol a w
ater

pollutant 7

(1) Fertilizers
(2) Aerosols

(3) Mercury saltg
(4) Pesticides
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143. ﬁﬁ%ﬁaﬁ%ﬁq,mﬂﬁam o
R ?
) T 5 gy () o
3 ey (4) am

144. S ¥ forq dome geha @ arfe
RESREL R oo B

(1) Fifeent sy
(2) &7var

(3) &
(4) Fioares

145. =i #1 gafea Fifm .

(A) QTR ‘f-F”;I (1) g e

(B) g 3

(C) =. 2. ;r,/ (iii) FEHT=El 3
(DDT) ‘

. "

(D) BIEhi Gv) BOD 3 B

1Y A-(1)- B-(1). C-(iv), D-(iii)

p’.&—{iiih B-(ii), C-(iv). D-(1)
(3) A(iii). B-(iv), C-(i). D-(ii)
(4) A-(iib), B-(i), C-(iv). D-(i1)

oo et facl Qo @ A #

146.

| (1) 9% >
(2) Faea (Seifa)
(3) A
(4) QRIS ot

Level-1/1101

[A]

143.  Which one is nor an abiotic factor ?
(1) Sunlight (2) Water
(3) Decomposer. (4) Temperature
144. Presence of which pathogenic microbe
in water is indication of contamination 7
(1) Coliform bacteria
A2y Chlorella
(3) Spirogyra
(4) Folvox

145. Match the following :
{A) Ultraviolet (i) Bio-magnification
Rays
(B) Biodegradable (ii) Eutrophication

organic matter

(Cy DDT {11i) Snow blindness

(D) Phosphates  (iv) BOD

(1) A-(ii), B=(i), C=(iv). D=(iii)
(2) A-(i1i), B-(i1). C(iv). D-(i)
(3) A-(iii), B-(1v), C-(i), D-(ii)
(4) A-(iii), B=(i). C-(iv), D-(ii)

146. The second trophic level in a lake s -
(1) Fungi-
(2) Benthos
(3) Zooplankton
(4) Phytoplankton

PiT.0
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[A]

qq7. AT (9 ) 1 gem e ®

148.

149.

150.

(1) HaS
2) N2O
(3) CO:
(4) CHu

sz @ o o & @eEted @6 R
3 gftefom 78 © ¢

(1) 9 JIEH
(2y g% 394

(3) TEEHAT
(4) TAEHI

AT B
(1) &7 d
(2) @iz geo H
(3) FAEE H

(4) femmme we9l H

Wﬁhﬁﬁﬁ%ﬁ%ﬂﬁﬁw
waifes & 7

(1S

(2) fEer TR

(3) ==

P L

| 46 |

147.

148.

149.

150.

Major Cmnpgﬂeﬂt of biogas 15 :
4]

(1) HaS
2) NO
(3) CO2
(4) CHy

The rule of three ‘Rs' to get rid of waslc,i

does not include :
(1) Reduce

(2). Reuse

(1)~ Regeneration

(4) Recycle

the

"Kulh'

irrigation is popular in :

local method of

(1) Kerala .
(2) Andhra Pradesh
(3) Karnataka

(4) Himachal Pradesh

Which of the following countries has
the highest bi@di‘-’ersity =

(1) Brazil
(2) South Afyicg
(3) Russia

(4) India
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